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RODT, m<nZd L TiE, pmn) =0Thsd, T, m>nllHLT,
p(m,n) =p(m—-nn) +pm—-nn—-1)+-+pim-n2)+pim-n,1)
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[x A BB %/
int main(void) {
intm n: /xm&nZEBEBELTES */

scanf (“%d”, &m): /* mDAH */
scanf (“%d”, &n): /*x nDAAH */

printf (“p%d, %d) = %d¥n”, m, n, p(m, n)): /* p(m n) ZHA */

return 0; /% main ﬁ%ﬂ‘ﬁ‘? */

@Qpmn)%E#ET 5E%H%E CEFETEY, L, BRFOCHLEAVWSZ L, ERLEEHRT 0T T ADH)
YRR DE DI A RERRY a A v EDITH T L,

/* p(m,n) Z5tET 5% +/
int pCint m, int n){
int i, p_sum = 0;

if (h=1 ] n=m /xpmD&pmmikl */
return 1,

if m<n) /*mniZx@L TIEpmn)=0 */
return 0;

/xpmn )ZEiSIASNETELADELLOMNpMm ) L1id. BREFMA +/
for (i =1: i <=n: i+
p_sum +=p(m - n, i);

return p_sum; /* LEETRELAEDLELLDERT */
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1 #include <stdio.h>

2 #include <stdlib.h>

3 #include <string.h>

4

5 typedef struct worddata {

6 struct worddata *next;

i char *str;

8 } worddata;

9 worddata *wordList = NULL;

10

11 int printList()

12 {

i3 worddata *car = wordList;

14 while (car != NULL) {

15 printf("%s\n", car->str);

16 car = car->next;

17 X

18 return 0;

19 3
20
21 int main()
22 {
23 int c;

24 char buf[256]; .
25 int i = 0;
26 while ((c = getchar()) != EOF) {
27 if ( ('a' <=c && c <= 'z') ||
28 ("A' <=c && c <= '2") ||
29 ('0' <=c && c <= '9') ) {
30 buf [i++] = c;
31 } else if (i > 0) {
32 worddata *newelem;
33 newelem = malloc(sizeof(worddata));
34 newelem->next = NULL;

35 newelem->str = malloc(i+1);
36 stroncpy(newelem->str, buf, i);
37 if (wordList==NULL) wordList = newelem;
38 else {
39 worddata *car = wordList;
40 while (car->next != NULL)
41 car = car->next;

42 car->next = newelem;

43 }

44 i=0;
45 ¥
46 }
a7 printList();

M
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(2)
547 struct worddata =¥k % 1B/

int count;

13 17 printList @ printf ZKIZEE

printf("%s, %d¥n", car->str, car->count);
37T 6 43 TR RD L D ITER

(S <)



newvelem->count = 1;
if (wordList==NULL) wordList = newelem;
else {
worddata *car = wordList;
if (car->next == NULL) {
if (strcmp(newelem->str, car->str) == 0) {
car—->count++;
} else if (strcmp(newelem->str, car->str) < 0) {
wordList = newelem;
newelem->next = car;

} else {
car->next = newelem;
}
} else {
if (strcmp(newelem->str, car->str) == 0) {

car->count++; free(newelem->str); free(newelem);
} else if (strcmp(newelem->str, car->str) < 0) {
wordList = newelem;
newelem->next = car;
} else {
while (car->next != NULL)
if (strcmp(newelem->str, car->next->str) > 0)
car = car—->next;

else
break;
if (car->next != NULL && strcmp(newelem->str, car->next->str) == 0)
car—->next->count++;
else {

newelem->next = car—->next;
car->next = newelem;
}
}
}
F




